
Roll. No. : .....................

GEPH-01
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Note : This paper is of Hundred (100) marks divided into

two (2) Sections, 'A' and 'B'. Attempt the questions

contained in these sections according to the detailed

instructions given therein.

;g iz'u i= lkS ¼100½ vadksa dk gS tks nks ¼2½ [k.Mksa ¼d½ rFkk

¼[k½ esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa

ds vuqlkj gh iz'uksa dks gy djuk gSA

SECTION—A

(Long Answer Type Questions)

Note : Section 'A' contains five (5) long answer type

questions of Twenty Six (26) marks each. Learners

are required to answer any two (2) questions only.

2 × 26 = 52
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[k.M ¼d½ esa ik¡p ¼5½ nh?kZ mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, NCchl ¼26½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy nks ¼2½ iz'uksa ds mRrj nsus gSaA

1. Explain working and efficiency of Carnot engine.

dkuksZ batu dh dk;Ziz.kkyh ,oa n{krk le>kb,A

2. State and prove Gauss theorem.

xkWl izes; crk,a vkSj fl) djsaA

3. What do you understand by damping in harmonic

motion? Discuss differential equation of Damped

harmonic oscillator.

vkorZ xfr esa voeanu ls vki D;k le>rs gSa\ voeafnr vkorhZ

yksyd dh xfr ds fy, vody lehdj.k izkIr dhft,A

4. What do you understand by Lissiojous figures. Draw

Lissajous figures taking two mutually perpendicular

S.H.M. having frequency ratio 1 : 2.

fylktl vkÑfr ls vki D;k le>rs gSa\ nks ijLij yacor

ljy vkorhZ yksyd ftudh vkorhZ dk vuqikr 1 % 2 gS ds fy,

fylktl vkÑfr cukb,A

5. What do you understand by Linear and angular

momentum? Explain conservation of linear and angular

momentum for (a) a particle (b) system of particle.
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js[kh; rFkk dks.kh; osx ls vki D;k le>rs gSaA fdlh ¼d½ d.k

¼[k½ d.kksa dh iz.kkyh ds fy, js[kh; o dks.kh; laosx laj{k.k dk

fl)kar nhft,A

SECTION—B

(Short Answer Type Questions)

Note : Section 'B' contains eight (8) short answer type

questions of Twelve (12) marks each. Learners are

required to answer any four (4) questions only.

4 × 12 = 48

[k.M ¼[k½ esa vkB ¼8½ y?kq mRrjksa okys iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, ckjg ¼12½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa

dks buesa ls dsoy pkj ¼4½ iz'uksa ds mRrj nsus gSaA

1. State and prove ampere circuital law.

,Eih;j ifjiFkh; fu;e crk,a vkSj fl) djsaA

2. What do you understand by wave? Discuss different

types of waves.

rjax ls vki D;k le>rs gSa\ fofHkUu izdkj dh rjaxksa ij ppkZ

djsaA

3. What do you understand by second law of

thermodynamics? State and explain.
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Å"ekxfrdh ds nwljs fu;e ls vki D;k le>rs gSa\ crk,a vkSj

le>k,aA

4. What do you understand by electric dipole? Calculate

torque experienced by electric dipole in uniform electric

field.

fo|qr f}/kzqo ls vki D;k le>rs gSa\ ,d leku fo|qr {ks= esa

fo|qr f}/kzqo }kjk vuqHko fd, x, cyk?kw.kZ dh x.kuk djsaA

5. Explain elasticity. Discuss poisons ratio in detail.

izR;kLFkrk dks le>kb,A iksblu vuqikr ij foLrkj ls ppkZ

djsaA

6. Write short note on varactor diode.

osjsDVj Mk;ksM ij laf{kIr fVIi.kh fy[ksaA

7. What do you understand by scalar triple product?

rhu lfn'kksa ds vfn'k xq.ku ls vki D;k le>rs gSa\ ,d

mnkgj.k ls le>kb,A

8. Explain T-S Diagram. Also discuss how it is used to

calculate efficiency of reversible engine.

T-S vkjs[k dks le>kb,A ;g Hkh ppkZ djsa fd izfrorhZ batu dh

n{krk dh x.kuk ds fy, bldk mi;ksx dSls fd;k tkrk gSA

*************
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